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3. Write a for loop statement to print numbers from 10 to l.
4" State the recursion. Give an example.

5. Define Array. Give an example.

6. What is pointer variable? How to declare it?
1. How rvitl you define a sructure in C? What is the use of it?
8. State the difference(s) between structure and union.
9. What are the two main ways a file can be arganized?
10" Why files are needed? List the file operations in the C paradigm.

PAR.T - B (5 x 13 = 65 Marks)
Answer ALL Questions

11" a) (i) Write an algorithm and draw a flovrchiut reflecting the
check if a number is prime or not.
(ii) Classify the data types supported by the C language with
examples.

OR
b) Illustrate the various types of operators available in C with the ts,Kz'col

necessary prOgrarns.

12. a) Deseribe the decision-making statements and branching staternents in 13'K2'co2

the C prograrnrning language with suitable exarnples.
OR

(i) Write a C program to check if the given integer is a Palindrome or 5'K2'co2

not.
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PART - d (10 x 2 = 20 ilIarks)
Answer ALL Questions

Marks,
K-Level,CO1' Define an aigorithm, and write an aigorithrn to find the largest among tlree t,xt,iot

numbers.
2- Identifl the hierarchy of the operations and evaluate the following 2,Kt,cot

expression : A:2* 3 I 4+4/ 4+g-2+j lg.
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(ii) Write a C program tc calculate the factorial of a number using u'".co)

recursion. Also, qnite a no1-recursive firnction to do the same job.

13. a) Explain multidimensional array with help of suitable examples.

OR

b) (i) Can w'e assign a pointer variable to anoth'*r poiater variable? Assess 8'K3'co't

your answer with the heip of an example"

(ii; Conrt uct a C progrim to swap the conient of fwo variables using s'K-j'co4

Poiniers.

14. a) (i) Construct a C program using rinion, to prepare the employee pay I'K3'Cos
' 

roil of a <;ompany.-The number of, records is created based on the user

input.
(ii) Is it possible to create an

with the help of an exarnPle.

15. a) (i) Explain the following file functions

1) fseekfl
2) ftell$
3) rewindQ

b) (i) compare structure and union wittr suitalile examples.' 
tiil Expiain in detail about T-vpedef and Table lookup'

t 3,K2,CA4

array of structures? If yes, demonstrate 5'K3'co5

OR

in C:

7,K2,Co5
6,K2,CO5

6,K2,C06

hnin'does random access fiie 7'r'2'co6
(ii) Ifith the hetp of a oase study tc sttow'

differ from a sequential access file'
OR

b) (i) write a c program to copy the content of one file into another file' s'K2'Co6

(ii) iliustrate the various operations that can be done on files' Give the 8'K3'C06

aPProPriate examPies'

PART - C (1 x 15 = 15 h{arks)

16.a)(i)writeacprogramforscientificcalculatorusingbuilt-infunctions'7'K3'co3
(ii) ConstruOi-C"pr*gram for Swapping of two numbers and changing s,K3'coi

the vaiue of a variable using pass by reference' 
:

oR.

b)TheTowerofHarroii'samathematicalpuzzle..ltconsistsofthreerods]5,13,Co3
anctNdisks.Thetaskistomovealithedisksfromonerodtoanother,
follouing the certain nries:

1) Only one disk can be transferred at a rime'

2) di;;; .pptt*"" aitt t* be moved from one stack to the

toP tf *othtt stack or emPtY rod'

3) Ailil-aitit t*ot be placed on a smaller disk'
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Figure 1 represents the initial
A

condition of the Tower of Hanoi:
BC

Figure 1: Initial condition of To.wer of Hanoi

The final solution of the Tower of Hanoi is given in figrire 2.

W$'.t:,-:ii:W:$,i;:::l*:&*t:,,;;r:: :;.:::

Figure 2: The flnal solution of the Tower of Hanoi

Suggest a solution to the Tower of Hanoi probiem ..vith relevant
diagrams, and implement the C program using recursion to solve the
Tower of Hanoi problem.
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